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2-1

C )2 H)jpc )
1 14910 | 114 -8.00 34.01
1B 90.90 10.9 -9.00 34.01
2 20450 | 124 -9.00 34.01
3 183.00 | 124 -9.00 34.01
4 167.00 | 124 -9.00 34.01
5 54.50 12.8 -9.00 34.01
6 131.00 | 14.3 -9.00 34.01
7 106.00 | 12.9 -9.00 34.01
8 136.42 | 12.9 -8.00 34.01
9 136.42 | 129 -8.00 34.01
10 136.42 | 12.9 -8.00 34.01
11 167.80 | 17.6 -6.50 55.10
12 170.00 | 17.6 -6.50 55.10
12B 251.00 | 176 -9.00 34.01
14 17240 | 14.8 -9.00 34.01
15 148.30 | 14.8 -9.00 34.01
16 156.50 | 34.0 -12.00 78.06
17 207.00 | 34.0 -12.00 78.03
18 21540 | 34.0 -12.00 77.03

18B 110.00 | 41.0 -8.00
19 32423 | 120.0 | -13.50 81.08
20 325.62 | 120.0 | -10.50 67.07
21 236.60 | 120.0 | -10.00 75.09
22 190.00 | 120.0 | -11.00 63.08
23 210.00 | 120.0 | -11.00 63.08
24 240.00 | 120.0 | -13.00 63.08
25 300.00 | 120.0 | -13.00 63.08
26 210.00 | 120.0 | -11.00 63.08
27 150.00 | 13.0 -7.00 59.11
28A 69.50 154 -3.50 65.01
28B 103.50 | 154 -3.50 65.01
29 178.00 | 11.0 -6.50 56.03
30 180.00 | 11.0 -10.50 56.03
31 165.00 | 15.0 -10.50 55.05
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C )

32 165.00 | 15.0 -11.00 55.05
33 210.00 | 14.8 -11.50 54.09
33B 95.80 11.9 -6.50 54.09
297.27 | 3-742 | -3.64
1 108.00 4.9 -4.50 56.05
2 200.00 | 10.5 -9.00 57.03
3 170.00 | 10.5 -9.00 57.03
4 306.30 | 10.5 -9.00 57.03
5 169.20 | 10.5 -9.00 58.04
6 180.00 | 15.0 -9.00 59.04
7 178.00 | 27.0 -9.00 59.12
8 240.00 | 76.0 -12.00 59.12
9 220.00 | 76.0 -12.00 79.09
10 200.00 | 76.0 -12.00 79.09
11 200.00 | 76.0 -12.00 75.05
12 50.00 56.0 -5.00 75.05
14 113.20 | 20.0 -5.00 75.05
15 198.00 | 21.0 -3.00 57.08
16 259.00 8.0 -3.00 57.08
17 95.00 8.0 -5.00 57.08
19 220.00 | 30.0 -9.00 67.03
20 120.00 | 30.0 -6.00 65.12
21 113.00 | 20.0 -9.00 67.10
22 113.00 | 20.0 -9.00 67.10
283.70 | 20.0 -3.00
45.03 -3~-5
47.04 5.0
60.00 -1.0
90.00 -2.0
120.00 | 13.0 -6.5
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2-2

( (
1 259.27 -9.0 44.07
2 136.97 -9.0 59.02
3 150.00 -9.0 59.02
4 150.00 -9.0 59.02
5 150.00 -9.0 59.02
6 150.00 -9.0 59.02
7 150.00 -9.0 59.02
8 150.00 -10.5 59.02
9 141.68 -10.5 59.02
10 150.00 -10.5 59.02

1 261.60 -55 -65

2 291.00 -6.5

3 378.28 -4.5
11 160.54 -9.0 59.06
12 160.54 -9.0 59.06

1 94.65 -3.0

2 89.90 -5.0
13 -9.0 57.03
14 150.00 -9.0 57.03
15 150.00 -9.0 57.03
16 180.20 -9.0 57.03
17 150.00 -9.0 92.02
18 150.00 -9.0 92.02
19 151.30 -9.0 92.02
20 150.72 -9.0 92.02
21 123.33 -5.0 92.02
22 120 -10.5 61.09
25 215.00 -10.5 80.12
27 199.3 -10.0 78.11
28 210.0 -10.5 76.03
29 220.0 -10.5 64.06
30 293.50 -10.5 79.09
31 195.55 -10.5 53.07
32 200.02 -10.5 55.08
33 200.04 -10.5 55.11
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34 200.00 -10.5 57.04
35 214.97 -10.5 57.04
36 199.38 -10.5 58.01
37 198.68 -10.5 58.01
38 197.70 -10.5 59.01
39 199.05 -10.5 59.01
40 214.17 -10.5 59.01
41 204.54 -10.5 59.01
42 242.68 -10.5 59.12
43 187.50 -10.5 59.12
44 199.16 -10.5 59.12
45 200.00 -11.0 62.07
46 200.00 -11.0 63.04
47 200.00 -10.0 63.04
48 260.35 -10.5 63.02
49 200.00 -10.5 63.02
50 200.00 -10.5 63.06
51 200.00 -10.5 64.06
52 200.00 -10.5 64.06
53 200.00 -10.5 65.06
54 200.00 -10.5 64.06
55 200.00 -10.5 64.06
56 200.00 -10.5 65.06
57 183.60 -10.5 64.06
58 306.00 -4.5 91.02
59 164.00 -6.5 68.12
60 150.75 -6.5 63.01
61 230.00 -10.5 63.01
62 230.00 -10.5 63.01
63 274.90 -12.0 63.07
64 245.46 -12.0 63.07
65 244.43 -12.0 63.07
66 439.92 -12.0 63.07
68 432.16 -14.0 68.05
69 320.00 -14.0 69.01
70 320.57 -14.0 69.01
71 330 -14.0 72.04
72 300.13 -14.0 74.06
73 240.34 -14.0
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74 314.00 -14.0

75 320.00 -14.0 85.01
76 320.00 -14.0 85.01
77 355.00 -15.0 85.01
78 320.00 -15.0

79 355.00 -15.0

80 340.00 -14.0

81 120.00 -14.0

85 225.00 -9.0

86 225.00 -9.0

87

88 502.00 -10.0

89

90 400.00 -10.0

91 83.00 -7.0

92 185.00 -4.0

94 170.56 -10.5

95 170.56 -10.5

96 170.56 -10.5

97 380.00 -16.5

98 360.00 -16.5

99 360.00 -16.5

101 380.00 -16.5

102 177.16 -11.8

103 272.84 -11.8 81.04
104 251.67 -16.0

105 300.17 -16.0

106 -4.2

111 264.20 -16.5 72.07
112 248.80 -8.5 72.07
115 276.86 -14.0 81.04
116 320.02 -14.0 74.01
117 320.00 -14.0 77.11
118 320.00 -14.0 77.11
119 320.00 -14.0 77.11
120 320.00 -14.0 8111
121 320.00 -14.0 81.11
122 336.26 -14.0
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2-3

2-3
1 250.00 | 200 | -13.0 66.02
2 250.00 | 200 | -13.0 66.02
3 250.00 | 200 | -13.0 66.02
4 200.00 | 200 | -11.0 67.04
A 185.00 | 20.0 -9.0 70.07
5A 22000 | 235 | -11.0 71.10
56,7,8 800.00 | 235 | -11.0 65.10
8A 260.00 | 235 | -11.0 66.09
9 260.00 | 270 | -140 68.04
10,11 64000 | 270 | -130 68.04
12 200.00 | 240 | -11.0 70.10
13 20000 | 240 | -110 70.02
14,15 360.00 | 1575 | -10.0 70.04
16,17 70.04
22 180.00 | 235 | -110
23 180.00 | 200 | -10.0 72.06
24 180.00 | 200 | -10.0 69.10
25 200.00 | 200 | -11.0 71.10
26,27 40000 | 240 | -11.0 69.03
28 14500 | 240 | -110 71.06
29 250.00 | 27.0 | -14.0 72.06
30 320.00 | 320 | -14.0
31,32 640.00 | 280 | -14.0 71.10
33,34 500.00 | 345 | -14.0
35 250.00 | 346 | -14.0
99 25000 | 250 | -120
101 340.00 -18.0
102 340.00 -18.0
103 290.00 -145
1 250.00 | 250 | -130 72.06
2 250.00 | 270 | -14.0 77.06
3 25020 | 270 | -14.0
4 25020 | 270 | -14.0
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2-4

2-4
C )21 C )

1,2,3 410.00 -7.5 26.01
4,5 320.00 -8.5 51.10
6 150.00 -8.5 63.02

7 120.00 -6.5 63.02

8 220.00 -10.5 63.02

9 103.00 -9.5 67.12
10,11 368.00 -9.5 67.12
12 150.00 -7.5 67.12
13,14 370.00 -9.5 67.12
15 100.00 -8.5 67.12
16 144.00 -7.5 67.12
17 200.00 -12.0 79.03
18 200.00 -12.0 79.03
19 310.00 -14.0 79.03
20 302.00 -14.0 80.03
21 200.00 -14.0 80.03
22 200.00 -14.0 80.03
23 272.00 -14.0 80.03
24 271.00 -14.0 80.03
25 332.00 -16.5 81.06
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2-5

2-5
C ) C )
1 210.00 -1.5 70.06
2 175.00 -11 70.06
3 215.00 -11 70.06
4 300.00 -11 67.09
5 200.00 -11 67.09
6 290.00 -15 72.07
7 240.00 -13 72.07
8 125.00 -71.5 68.08
9 125.00 -71.5 68.08
10 175.00 -9 66.12
11 175.00 -9 66.12
12 200.00 -9 66.12
13 180.00 -9 70.10
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Ae
R RURA =R ARIEIVHORE A R R B R 4
= PLe1 + PLE?2
Pel @ 2R 2RI FICH KR BENIER K2 3 2504
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cos’(¢+w —6)
Kee =

2 _p|1_ [Snlo=8)snlo=0) |
cosgcos” y cos(d +y 9)[1 \/005(5 +ty - H)COSW}

Pee © 2 K2 Bk R4 (UMP) > d BRI FHR N 2 IRELBE
d R4 > g 2. Mononobe-Okabe (& > 1997 ;
Matsuzawa et al. » 1985¥) 2 X2 & » & Mononobe-Okabe
mMmmm&Mmm, 192919 ; Okabe - 1926) 2 ;% #_if
3 gpR) 0 K513 2. Mononobe-Okabe = 3¢ § -k @ & B
%’W“ﬁ“57%@$@i@*’éégiﬁkTFW&
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4.1

411

0.1g
4.1

4-1

Kh

63

0.1

3.17

0.1g



4-1 90 8
113 4-2 4.2
0.6 GOy
1.3
1.3
4-1
A | Z E oy
FSPIVA |- 55,2002 cm®* |3,150*2 cm® |2100000 kg/cm?|3000 kg/cm?
Fsp- |- 16,400cm*  |1,310cm®  [2100000 kg/cm?|3000 kg/cm?
44.18cm? |- - 2100000 kg/cm?|2400 kg/cm?
4-2
(M) (M) N T/IM* | C TIM®> | o(deg.)
12 12 8 2.00 0. 24
16 4 6 1.85 0.5 24
24 8 22 1.97 0. 31
36 12 34 1.99 0. 34
50 14 42 2.00 - -




12805

EL.+150
~ ELFTH

—r
1250
[Hl T L
EL-E3 M e NERNEN
Bl 150 : . . '
B | —
o0 — ™, prim
—
M i

EE:th

PSR b2im+ b 15m]

EL- 1030

EL-1dal)

EL- 1330

4.1

FSF3=10m



EL.+2.2

WL

r=2t/m®* ¢=35 c=0 S=15 Ky=0.157

g=2t/m* qg'=1t/m?

7 ©

h=123— EL+12 —
EL+1 — >
ELOO
r=2t/m®* ¢=24 c=0 S=15 K,=0.2
h,=10.5 @
EL.-10.5
7
r=1.85t/m*>  ¢=24  |c=05 &S=15 K;=0.218 ©
EL.-14.5
. , @
r=1.97t/m*> ¢=31 =0 =15 K,=0.203
EL.-225

4.2

4-4



4.1.2

4.2
ka
kp 4-3
4-3 ka Kp
o N o | G | & Khi |6 Hi kay Kpi
(
1 1 2 |35 0 |15 0.1 0.0997 1 0.306
2 1 1 24 0 |15 0.2 0.1974 11.7 0.558
3 1 ]108 |24 |[05]15 0.218 0.2143 4 0.580 | 2.866
4 1 | 097 |31 0 |15 0.203 0.2003 8 0.439 | 4.362
1.
(1)
(2]
M
S < P e (4-1)
M a
SF 1.5 1.2
Mp
Ma
Excel SF 1.2

4-5




4-4 4-5 4.3 4-2
21.1 4.1
20.7 1.9 S.F
1.0 4-6 4-7 44 4-3
20.1 1.0
4-4 ( 1.2)
t/m t/m Hi m |=PaiitPaz = Ppir + Ppiz
2 2
P11 | 0.296
1 P11 (0592 t

P12 | 0.888

P21 | 1.617
11.7 P2 |55.818 t

P22 | 7.924

P31 | 7502 |P,11| 1.635
4 P3 (33818 t Pl [25.368 t
P32 | 9.407 |P,12| 11.049
PAl | 7.683 |P,21| 14.325
4.4 P4 |37.789 t P2 (102592 t
P42 | 9.494 |P,22| 32.308
4-5 ( 1.2)

Pi t M4=0x® [Py t @ My =@x@
@ m © t-m m @ t-m
0.592 0.617 0.365
55.818 6.939 387.318
33.818 13.575 459.088 25.368 13.995 355.013
37.789 17.777 671.789 102.592 17.983 1844.898




EL422 —p 22
H1=1 o Pal=0.592t
FL.+12 __ 0.888
ELA+1 — » Ap
H2=11.7 Pa2=55.818t
—
EL .-10.5
7.924
1.635 7.502
Pp1=25.368t
Pa3=33.818t
> H3=4
11.049 EL.-14.5 9.407
14,325 7.683
Pp2=102.592t
> H4=4.4 Pad=37.78%t
32.308 9.494
4.3 1.2
Rwm

Rwm = 0.5*r,* h, * h. * (h*2/3-0.2)+ h; *r,* h,+H3+H4

*( hytH3+H4 /2+1)
= 237.438 t-m

3.2
Pdw = 7/12%kp* 1y, * hy, 2

Dwm



Dwm = 7/12%Ki* 1, * hy, *(3/5* h,, +1)

= 7/12*0.1*1*10.5*10.5* (3/5* 10.5+1)

= 46.948 t-m
M, +M
SF= LR 2 =12 e, (4-2)
M, +M_+M_, +Rwm+Dwm-M_
4-6 ( 1.0)
t/m t/m Hi m |=PaitPaz = Ppirt Ppiz
2 2
P11 | 0.296
1 Pl 0592 t

P12 | 0.888

P21 | 1.617
11.7 P2 |55.818 t

P22 | 7.924

P31 | 7502 | P11 | 1.635
4 P.3 (33818 t| P,1 (25368 t
P32 | 9.407 | P,12 | 11.049
PAl1 | 7.683 | P21 | 14.327
34 P4 28501 t| P2 (72328 't
Pad2 | 9.082 | Pp22 | 28.221
4-7 ( 1.0)

P; t Maj=®x® Ppi t ® Mpi=®x@
@ m © t-m m @ t-m
0.592 0.617 0.365
55.818 6.939 387.318
33.818 13.574 459.088 25.368 13.995 355.013
28.501 17.247 491.561 72.328 17.385 1257.432




EL.+22 —
H1=1 o«  Pal=0.592t
EL+12 __ 0.888
EL+1 — » Ap
H2=11.7 Pa2=55.818t
<_—
EL .-10.5
7.924
1.635 7.502
Pp1=25.368t
Pa3=33.818t
> H3=4

11.049 EL.-14.5 9.407

14.325 7.683

Pp2=72.3
> H4=3.4 Pa4=28.501t
28.221 9.082
4.4 1.0
Rwm
Rwm = 0.5*r,* h,* h, * (h*2/3-0.2)+ h, *r,* h,+H3+H4

*( hytH3+H4 /[2+1)
=214.158 t-m

Dwm

Dwm = 7/12%Ki* 1, * hy, **(3/5* h,, +1)

=7/12*0.1* 1*10.5* 10.5* (3/5* 10.5+1)= 46.948 t-m

4-9



Mp1+Mp2

Ma2+Ma3+Ma4+RWm+Dwm_Mal .................... (43)
(2)
(2]
4.5
Ap Excel
31.545 75
111.37 -
A (Pam)

Pam =P,1* (((2* P,11+P,12)/(P,11+P,12))* H1/3+H?2)
P.2* ((2* P.21+P,22)/(P.21+P,22))* H2/3
0.592*12.117 55.818*4.561  261.757 t-m

A Rwm
Rwm = 0.5*r,*h* h*(h/3+ h,)+0.5r,*h*h,* h,
=73.998 t-m
A Dwm
Dwm = 7/12%Kp* 1, *h,,** (2/5* h,)

= 7/12*0.1*1*10.5*10.5* (2/5* 10.5)

=27.011t-m
Pam+ Rwm+ Dwm
= =31.545 t
Ap 115
Ap* =31.545*1.6

4-10



=50.464t 0.6*fy* *1.3=0.6* 2400* 44.18* 1.3=82705kg
=82.7051 O.K.

Excel 75
Mmax=111.37 - 0.6* fy* z* 1.3=0.6* 3000* (2* 3150)* 1.3
=147.42 - OK.

2222222222822

v I\
v % = AN \ >
= Ap

4_
/ —>
A
4.5
(3)
(2]
M =032 LSOO (4-4)

T
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kh kh:OlSN

B

El

N

42 41
8 kn=0.15N=1.2 B 100 E=2100000
1=16400 3=0.005433
M =0321 = 032 3L:94X100 _ . eq0005 _1869  t-m
B 0.005433

0.6*fy*Z*1.3=0.6* 3000* 1310* 1.3=30.65t-m 18.69t-m (O.K.)

Lm=nt/P

m

L = % — 5.78m < 8.5m

(4) D

41 4.2
2 ¢.=38.6

D=11.5*cotc,+ Ln/3 *cotg,

=199m 155m N.G

4-12

4.1 8.5
(O.K)
0=24 $=15 k,=0.2
¢;=19.2 (5=-15
19.9 155



4.1.3

31 GIS
4.6 M=6.5
PGA=0.1g 15

-1.8~-6.3
3.19

100

14

173000 174000 175000 176000 177000 178000 179000 180000 181000 182000 183000

Liguefaction Anaksis by Lai+lwasaki method, M=6.5 PGA=01g

4.6

4-13



(1)
Excel S.F. 1.2
4-8 4-9 47 45
21.4 20.7
3.3 S.F. 1.0 4-10
4-11 48 4-6 20.7
4-8 ( 1.2)
t/m t/m H m = Pa1 + Pa> % = Pir + Pyiz %
2 2
Pall | 0.296 1 Pl | 0592 t
P,12 | 0.888
Pocl | 1617 3 P2 |7.277 t
P22 | 3.234
PeAL | 5660 4.2 P4 (28527 t
P42 | 7.924
P51 | 7.502 | P11 | 1.635 4 P.5 |33.818 t p1(25368
P.52 | 9.407 | P,12 | 11.049
P.61 | 7.683 | P,21 | 14.325 4.7 P.6 |40.656 t P2 112460 t
P.62 | 9.618 | P,22 | 33.534
4-9 ( 1.2)
Ps t Msi=Ox® Py t ® My =@x®
©) m @ t-m m @ t-m
0.592 0.617 0.365
7.277 1.467 10.674
28.527 9.517 271.486
33.818 13.575 459.088 25.368 13.995 355.013
40.656 17.938 729.269 112.469 18.164 2042.930

4-14




N 20R

EL.+2.2 —“\H1:1
El +192 . 0 888 Pal=0.592t
EL+1 — [ ) > Ap
U \e— Pa2=7.2
3.234
Fl 18 6
H3=4.5
|.n2=2.363t | n1=37.125t
05
Fl A S
5.66
H4=42 < Pa4=28.527t
Flong oo 7.924
7.502
Pp1=25.368t " H5a Pa5=33.818t
11 n4a 9.407
EL.-145
14.325 7.683
> He=4.7 — Pa6=40.656t
Pp2=112.469t
33.534
aR1KR
4.7 1.2
- (Lpl) (Lp2)

Lpl
Lply, q r*H; r,*H, 6t/m
Lpl, q r*Hy r*H, r3*H; 10.5t/m
Lpl= 0.5* (Lpl, Lply)*H; 37.125t
(Lp2)

Lp2= 7/12%Kp* (r3 +ry)*Hs*Hs  2.363

4-15



me
L pm=Lp1* (((L p1:+2* Lply)/(Lpli+Lply))* Ha/3+H,-0.2)
Lp2* (3/5* Ha+H,-0.2)=208.069 t-m
Rwm
Rwm = 0.5r,*h* h* (h*2/3-0.2)+ r,* h*  hy+Hs+Hg
*( hytHstHg /2+1)
= 244.656 t-m
Dwm
Dwm = 7/12%Ku* 1, *hy>* (3/5* hy+1)
= 7/12*0.1* 1*10.5* 10.5* (3/5* 10.5+1)

=46.948 t-m

_ M+ Mg, 12 e (4-5)
Lpm+M;+M_, + Rwm+Dwm-M

4-10 ( 1.0)
t/m t/m H m = Pai1 + Paiz = Ppir+ Ppiz
2 2
Pall | 0.296 1 Pl | 0592 t
P,12 | 0.888
P21 | 1617 3 P2 |7.277 t
P22 | 3.234
P4l | 5.660
A 4.2 P4 (28527 t
P42 | 7.924
P51 | 7.502 | P11 | 1. 4 P .
5 50 A 635 5 [33.818 t pi|25368 t
P.52 | 9.407 | P,12 | 11.049
P61 | 7. P21 | 14.32 4 P .
6 683 | P, 325 6 134.024 t P2 (80006 t
P.62 | 9.330 | P,22 | 30.673

4-16




4-11 ( 1.0)
) m ® t-m m @ t-m
0.592 0.617 0.365
7.277 1.467 10.674
28.527 9.517 271.486
33.818 13.575 459.088 25.368 13.995 355.013
34.024 17.565 597.621 89.996 17.742 1596.733
EL.+22 0.296
H1=1
EL +1.2 _‘\ 0.888 < Pal1=0.592 t
1.6
EL+1 — » Ap
H2=3
<«— Pa2=7.2
3.234
EL.-1.8 6
H3=4.5
Lp2=2.363t Lp1=37.125t
10.5
EL.-6.3
5.66
H4=42 ¢ Pad4=28.527t
EL.-10.5 1635 7.924
7.502
Pp1=25.368t > s Pa5=33.818t
9.407
11,049 EL.-14.5
14.325 7.683
> Pab=34.024t
H6=4
Pp2=89.996t
30.673 9.330
4.8 1.0

4-17




Rwm
Rwm = 0.5*r,*h* h* (h*2/3-0.2)+ r,* h* h,+Hs+Hs
*( hytHstHg /2+1)
= 227.982t-m
Dwm
Dwm = 7/12%Ki* 1, *hy™* (3/5* hy+1)

= 7/12*0.1*1*10.5*10.5* (3/5* 10.5+1)= 46.948 t-m

M,+M,
SF.= PP =10 o, (4-6)
Lpm+M_+M,, + Rwm+Dwm-M
(2)
4.1.2 Excel
56.973 8.1

23191 -
A (Pam)
Pam =P,1* (((2* Pa11+P,12)/(P,11+P,12))* Hy/3+H, Hs Hy)

P.2* (((2* P21+P22)/(P.21+P,22))* Ho/3+H3+Hy) +

LP1*(((2* LP1+L PL,)/( LP1,+LP1,))* Ha/3+ Hy)+

LP2* (2/5* Ha+ Ha) + PA* ((2* PAL+P,42)/(PA1+P.42))* Ha/3
382.805 t-m
A Rwm

Rwm = 0.5, *h* h* (h/3+ hy)+0.5%r,* h* hy* hy, = 73.998 t-m

4-18



A Dwm
Dwm = 7/12%Kkp* 1, *h,,** (2/5* h,)

= 7/12*0.1*1*10.5*10.5* (2/5* 10.5)

= 27.011 t-m
pp= 2 RV DWIM_ 15 0714
115
Ap* =42.071%1.6
=67.314t < 0.6fy* *1.320.6* 2400+ 44.18* 1.3
=82705t  OK.
Excel 7.2
Mmex=156 - 0.6*fy* 2+ 1.3=0.6+ 3000* (2* 3150) *1.3
14742 - N.G
156 — 147 .42
= 5.5% 0
e 6 5.5%
()
4-4
[14]
F 0.8~1.0
De  0.666
8 5 k=0.15N=0.75 B 100
E=2100000 1=16400 $=0.00483
*
M =0322329171000 _5e0733 2805  t-m
0.00483

0.6*fy*Z*1.3=0.6*3000* 1310*1.3=30.654 t-m 28.05t-m (O.K.)

4-19



Ln=m/B 4.1 8.5

L :g—:6.5m < 8.5m (0.K.)
(4) D
4.1.2 155
4.2
412 413 4-12
FS=12
FS=12
0.072
K=0.072
0.072

4-20



4-12

FS=1.2 FS=10 | FS=1.2 | FS=1.0
N.G. O.K. N.G. O.K.
OK. N.G.
OK. OK.
OK. OK.
OK. OK.
N.G. N.G.
1.
(1)
Excel 0.072
20.7
1.24 4-7
1.2
4-13 kx=0.072
t/m t/m H m = Pai1 + Pai2 = Ppir + Ppiz
2 2
Pall | 0.279 1 P,1 | 0.558
P,12 | 0.837
P .
a2l | 1438 3 P2 | 6.471
P22 | 2.876
Pl | 5033 4.2 P4 |25.366
P42 | 7.046
P51 | 6.726 | P,211 | 1.689 4 P,5 |30.
z i = (30.340 Pyl |26.832
P52 | 8.444 | P12 | 11.727
P61 | 6.854 | P,21 | 15.132 4 P,6 |30.
z & o 130-353 Py2 | 95.064
P62 | 8.323 | P,22 | 32.400

4-21




4-14 k,=0.072

Pi t M, =Ox® Ppi t ® Mpi =Q@x®
) m ® t-m m @ t-m

0.558 0.617 0.344
6.471 1.467 9.491
25.366 9.517 241.399
30.340 13.575 411.878 26.832 13.999 375.622
30.353 17.565 533.141 95.064 17.742 1686.650

ELA422 —p 227

.\Hlﬂ <«— Pal=0.558t
EL +1.2 0.837
EL+1 — > Ap
H2=3
«— Pa2=6.4
EL.-18 2876
H3=4.5
Lp2=1.701t Lpl=37.125t
EL.-6.3
H4=4.2
EL-105 0% Toap 23N
6.726
Pp1=26.832t > o Pa5=30.240t
11.727
EL.-14.5
15.132 6.854
Pp2=95.064t Pa6=30.353t
32.400
8.323
49 Kki=0.072

4-22



= (Lpl1)
Lpl
Lply, q r*H; r,*H, 6t/m
Lpl, q r*Hy r*H, r3*H; 10.5t/m
Lpl=0.5* (Lpl; Lply)*H; 37.125t
(Lp2)
Lp2= 7/12*Kn* (13 +1y)*Hs*Hy 1,701 t
Lpm
Lpm=Lpl*(((Lpl;+2*Lpl,)/(Lpli+Lply))* Ha/3+H,-0.2)
Lp2* (3/5* Ha+H,-0.2)=204.431 t-m
Rwm
Rwm = 0.55r,*h* h* (h*2/3-0.2)+ r,* h*  hy+Hs+He
*( hytHstHg /2+1)
=227.982t-m
Dwm
Dwm = 7/12%Ki* 1, *hy** (3/5* hy+1)
=7/12*0.072* 1* 10.5*10.5* (3/5* 10.5+1)

=33.803 t-m

Mp1+Mp2

.= =124
Lpm+M_ +M_, + Rwm+Dwm-M

4-23
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(2)

4.1.2 Excel
39.783 7.1
147.404 -

A (Pam)

Pam =P,1* (((2* P11+P,12)/(P11+P,12))*Hy/3+H, Hs  Hy)
P.2* (((2* Pa21+P,22)/(P:21+P,22))* Hol 3+Hg+Hy) +
LP1* (((2* LP1;+L P1,)/( LP1+LPL,))* Hy/3+ Hy)+
LP2* (2/5*Hat+ Hy) + PA* ((2* PAL+P.A2)/(PAL+PA2))* Hu/3
364.060 t-m

A Rwm
Rwm = 0.5*r,*h* h* (h/3+ h,)+0.5*r,* h* h,* h,
= 73.998 t-m
A Dwm
Dwm = 7/12%kp* 1, *hy,2* (2/5* hy)

= 7/12*0.072* 1* 10.5* 10.5* (2/5* 10.5)

=19.448 t-m
Ap= Pam+ Rwm+ Dwm _ 39783 i
115
Ap* =39.783*1.6
=63.653t < 0.6*fy* *1.3=0.6*2400*44.18*1.3

=82.705t O.K.
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Excel 7.1

Mmax=147.404 - 0.6* fy* z+ 1.3=0.6* 3000* (2* 3150) * 1.3
=147.42 - OK.
©)
4-4
Fo 0.8~1.0
De  0.666
8 5 kw=0.15N=0.75 B 100
E=2100000 |=16400 B=0.00483
M, = 0.322 39.783 * 1000 = 2652200 = 26 .522 t—m
0.00483

0.6*fy*Z*1.3=0.6*3000* 1310*1.3=30.654 t-m 26.522t-m (O.K.)

Ln=rt/B 4.1 8.5
Lm:g—:6.5m<8.5m (O.K.)
0.04 Kn=0.04
4.1 4.2 0=24 $=15 ki
0.08 c=47.7
¢;=21.6 15.3
L=5.78m 15.5

D=11.5*cotc,+ Ln/3 *cotgp
=15.3m 155m O.K.
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54 55
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ERIEAR
F1307 @1 Smat0pe

ERR Chnfg
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ERIRETIR
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\ 23450 |
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100
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i
; | - e
EC=TO.50T -
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5.2

25,000
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B
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B0 e
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5.4
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5.2

5.7

Mononobe-Okabe(Matsuzawa et al. 19851%)

Ln=n/B

5.8

5-5

5.6

5.6

(2]



5.10

5.9

5.2

70

M ononobe-Okabe
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5.7

o7



EL.+2.3m

HW.L+1.2m)

WY.L +0.3m)
——

A RS HP 1000H* 13001

EL -10.5m

26.00

1245 |

SOTHE

U —— ‘

P .C $8E (T=20c)
B R (T=40om)

EL+0.95m

| EC=Ta5m
F

u
EL -20.6m

EREAR
A EF 130 T

Smatiope

N

SSP PU25 L=14M(SY30)

EL-12.25

[JECT205m

5.8

25,000

FSP Z25(5Y-30) L=8.00m

EL +2.4m ,
+1.00 /
LW.LOO /M\
{7 DBSmm(SS-A0) cicT B I
_som It BEARE
EARiE
-10.50m FSP Z38(#V-30) L=19.0m
/
-17.50m

5.9

5-8




18.288

y A
CONNECTIVEﬂEAM@E A0m Q
/ I
T 70mmD tierod
TiEiRE .
e
\ MR E
-9.00m
EL-10.50m -
OcmD ER.C.D PILE
@3.2m cie
-18.50m
4 : s
m EL-2520m

5.10

5.3

Free Earth Support
Fixed Earth Support

5.6

[15]

511
[15]
(16]

5.11
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RN

5.11

5.3.1

5.12

51

5.13

5-2

0.6

1.3

5-10



1.3

5-1
Z E Oy
8,610 cm® 2,100,000 kg/cm? 3,600 kg/cm?
2,600 cm® 2,100,000 kg/cm? 3,200 kg/cm?
5-2
(M) (M) o TIM? C TIM? o(deg.)
1.53 1.53 1.9 0 30
51 3.57 1.0 0 30
7.6 2.5 1.0 0 30
17.6 10 1.0 0.5 33
29.1 11.5 1.0 0.5 33

5-11




4@7.62=30.48 2-62‘

EL.-10.5

EL.-15

EL.-26.5

EL.-32.6

5.12

5-12



g=2t/m® qg'=1t/m?

LU

EL.+2.6 v
r=1.9t/m* ¢=30 c=0 &=15 K= 01
—1. . —7 »
v »
EL.+1.07 _
EL.0.0 - r -
r=1t/m* ¢=30 c=0 &=15 K,=0.24
EL.-2.5
r=1t/m®* ¢=30 c=0 S=15 K,=0.24
EL.-5.0
h,=15
r=1t/m®* ¢=33 c=05 &=15 K,=0.24
EL.-15
r=1t/m® ¢=33 c=0p S=15 K,=0.24
®
EL.-26.5
5.13

5-13
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5.3.2

0.129( )
GIS
5.14 M=6.5
PGA=0.12g 25~5
KHI103
~ = 18033195
TR A
RE R Y- 2095216 66
Z=455
(B ) (8 ()
o 142 SP-SM
g 116 EF-5M
o L | 173 BM
. 063 ML
| 254 EM
208 EP-SM
-10 + 233 M
234 EP-EM
237 EP-EM
20 | Y
25.45
-30 L

FERREG .S SONILEREO. 12g

5.14

5-14



(1)
Excel k,=0.12
5-3 5-4
5.15 19
51 1.2
5-3
t/m t/m Hi m  |=Pai+pPaz = Ppir+ Ppiz
2 2

P11 | 0.371

§ 153 | Pl | 139 t
P12 | 1.448
P,21 | 1.860

Z 357 | P2 | 968 t
P,22 | 3.560
Pl | 3629 10 P4 [57.70 t
P42 | 7.912
P51 | 7.912 | P11 | 2.102 11.5 P,5 (11930 t p1(32656
P.52 | 12.836 | Py12 | 54.692

5-4

Pi t M4 =0Ox® Ppi t ® Mpi:®x@
) m @ t-m m @ t-m
1.39 0.584 0.812

0.68 2.002 19.367

57.7 11.718 676.211
119.3 22.305 2660.999 326.56 23.625 7714.97
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n 271

EL.+2.6 —~\H1:1 - oalo1 301
EL.+1.1__ 1448 >
EL.+107 | | 186 Ap
<+— Pa2=9.68t
EL.-25
Lp2=0.875__/ Lp1l=21.8t
EL.-5 9.977
3.623
H4=10
«—
Pa4=57.705t
EL.-15 2102 o2
E— «—
Pp1=326.562t H5=11.5 Pab=119.3t
~A EL.-26.5
12.836
515 ku=0.12
- (I—pl) (|_p2)
Lpl

Lply q r*H; r*H, 7.477tm
Lpl, q r*H; r*H, r3*Hy 9.977t/m
Lpl=05* (Lpl; Lply)*H; 21.8t

(Lp2)

Lp2= 7/12*Kua* (13 +1w)*Ha* Hy  0.875t

5-16



Lpm
Lpm=Lp1* (L p1+2* Lpl,)/(Lpli+Lpl,))* Hy/3+H,+0.03)
Lp2*(3/5* Ha+H,+0.03)=111.579 t-m
Rwm
Rwm = 0.5*r,*h* h* (h*2/3+0.03)+ r,* h* h,+H5
*( hytHs /2+1.1)
=407.320 t-m
Dwm
Dwm = 7/12*kp* 1, *h, > (3/5* h,+1.1)

= 7/12*0.12*1*15*15* (3/5* 15+1.1)

=159.075t-m
My
SF= =19 (5-1)
M, +Lpm+M_, +M . +Rwm+Dwm-M
(2)
5.16 Ap
Excel
54.675 12.7
2242 -

o-17



2221222221822 _
;‘) ~ 2 """" ”\\ """" >

1<

5.16

A (Pam)
Pam =P,1* (((2* P11+P,12)/(P11+P,12))*Hy/3+H, Hs Hy)
P.2* (((2* P21+P22)/(P.21+P.22))* Ho/3+H3+Hy) +
L P1* (((2* L PLy+L PL,)/( LP1+LP1,))* Ha/3+ Ha)+
LP2* (2/5* Ha+ Ha) + PA* ((2* PA1+P,42)/(PAL+P,A2))* Ha/3
666.23 t-m
A Rwm
Rwm = 0.5*r,*h* h* (h/3+ h,)+0.5*r,* h* h,* h, =129.17 t-m
A Dwm

Dwm = 7/12%Kkp* 1, *h,,** (2/5* hy)
= 7/12*0.12* 1* 15* 15* (2/5* 15)

=945t-m

5-18



_ Pam+ Rwm+ Dwm

Ap — — 55,27t
Ap* =55.27*2.065
=114.14t<13*44.2*2( 2 F130T )=1149t  OK.
Excel 12.7
Mmax=229.4 - 0.6*fy* 2+ 1.3=0.6* 3600+ 8610 * 1.5
=240933 - OK.
2.
3
F 0.63 5.14
5.1~7.6
De 0333
5 1.6 ki=0.15N=0.24 B
100 E=2100000 1=45320 $=0.00285
*
M, =032 20P 71000 _g1g5010 —61.85  t-m
0.00285
0.6*fy*Z*1.3=0.6*3200* 2600+ 1.3=64.90 t-m 61.86t-m (O.K.)
Ly=n/B 5.12 12
L., =%=11.03m ( 12m (OK.)
3 D
5.13 0 0
d 30 10 (2l
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5-5

0 22 =22
29.42
5.12 38.1

5-5 kn=0.12

o 0 Kh Olai Olpi
1 30 15 0.12 50.2 19.4
2 30 15 0.24 42.4 18
3 22 15 0.24 31.7 17.9
4 33 15 0.24 45.5 17.3

D= H4 cotoy +H3 cotog +H2 cotoy, +0.03* cotoy+  Lo/3

* cotoly

=2942m 381m OK.

5.3.3
0.15¢( ) 25
( ) ¢ 70cm
t 1lcm | 918,Olocm4 A 2039cm?
ky=0.15N=0.15*5=0.75 Bzi/ 0% 70 ___ _0,00287cm
4* 2.1*10°* 918010
% —1093cm=10.93m
10.93 517 k.=0.15

5-20



L=2.8*tanoat+(32.6-15)=20.07 10.93

4.13 0.7
(0.7/4.13)*100 =17
17
5 A@7.62=30.48 2-61
— > > —>
EL.26 —
EL.11 — N ElL 15
EL.1.07 — - --F------AN-----F---
EL.O I
2.8 -
_ EL.-10.5
A
EL.-15
TR
0,=41.4
L
EL.-265
EL.-32.6 v
5.17 kp=0.15
1.

5-21



(1)

Excel k,=0.15
5-6 5-7
5.18 1.85
5-2 1.2
5-6
t/m t/m Hi m  |=Pai+tpaz = Ppir+ Ppiz
2 2
P,11 | 0.394
§ 153 | P | 148 t
P,12 | 1.539
Pa2l | 2126 357 | P2 |11.06 t
P,22 | 4.068
Potl | 4186 10 P4 | 6628 t
P42 | 9.070
P51 | 9.070 | P11 | 2.034 115 P,5 [136.60 t p1l30671 ¢
P52 |14.687 | P,12 | 51.306
5-7
P,*(1-0.17) Mai=0x@ |P, t M, =@x®@
t © m © t-m ©) m @ t-m
1.23 0.584 0.717
9.18 2.002 18.368
55.01 11.718 644.428
113.38 22.305 2528.741 306.71 23.620 7244.55

5-22




0.394

EL+26 —1.,._ o ole1 481
: < —1.
EL.+11_ ‘\ 1539 R
EL.+107 | | 213 Ap
<«— Pa2=11.06
EL.-2.5 7477
H3=2.5 _
L p2=1.094t Lpl=21.8t
EL.-5 ‘
4.186 9.977
H4=10
—
Pad=66.28t
EL.-15 2.034 9.07
E—— P —
Pp1=306.71t H5=115 Pas=136.6
51306 EL.-26.5
14.687
518 kx=0.15
- (Lpl) (Lp2)
Lpl

Lply q r*H; r*H, 7.477t/m

Lpl, q r*Hy r*H, r3*Hs 9.977t/m

Lpl= 0.5% (Lpl; Lpl)*H; 218t
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(Lp2)
Lp2= 7/12*Kpy* (r3 +ry)*Hs*Hy - 1.094 t
Lpm
Lpm=Lp1*(((Lp1:+2* Lply)/(Lpli+Lpl,))* Ha/3+H,+0.03)
Lp2* (3/5* Ha+H,+0.03)=112.695 t-m

Rwm
Rwm = 0.5*r,*h* h* (h*2/3+0.03)+ r,* h* h,+H5
*( hytHs /2+1.1)
=407.320 t-m

Dwm

DWmM = 7/12%Knt* Ty * M2 (3/5% hy+1.1)
= 7/12*0.15% 1* 15% 15% (3/5* 15+1.1)

=198.84 t-m
Ma
SF= =18E (5-2)
M, +Lpm+-M,, +M+Rwm-Dwm-M,
(2)
Excel 54.82
12.1 217.66 -
A (Pam)

Pam =P1* (((2* Pa11+P,12)/(Pa11+P12))*Hi/3+H,  Hs  Hy)
Pa2* (((2* Pa21+Pa22)/(Pa21+P,22))* Ha/ 3+H3+H,) +
LP1*(((2* LP1,+LP1,)/( LP1+LP1,))* Ha/3+ Hy)+
LP2*(2/5* Hyt Ha) + PaA* ((2* P-AL+P:A2)/(PAL+PA2)) Hy/3
647.31 t-m
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A Rwm
Rwm = 0.5*r,*h* h* (h/3+ h,)+0.5*r,* h* h,* h, =129.17 t-m
A Dwm

Dwm = 7/12%Kkp* 1, *h,,** (2/5* h,)
= 7/12*0.15* 1* 15* 15* (2/5* 15)

=118.13 t-m
Ap= Pam+ Rwm + Dwm _5557 ¢
16.1
Ap* =55.57*2.065
=114.71<1.3*44.2*2 ( 2 F130T )=114.92 t O.K.
Excel 12.2
Mmax=223.78 - 0.6*fy*z*1.3=0.6* 3600* 8610 * 1.3
=241.77 - O.K.
532 5
1.6 kn=0.15N=0.24 B 100 E=2100000
1=45320 3=0.00285 Mmax=62.02 t-m
54.818*1000

M, =0322——=6202189=6202 t-m
0.00285

0.6*fy*Z*1.3=0.6* 3200* 2600* 1.3=64.9t-m 62.02t-m (O.K.)

L=nt/B 5.12 12

L :%:11.03m ( 12m (O.K))

m
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5.3.2
5-8

33.88 5.12 38.1

5-8 k,=0.15
(0 0 Kh &al ﬁpi

1 30 15 0.15 48.6 19.1
2 30 15 0.3 37.8 16.9
3 22 15 0.3 24.5 15.1
4 33 15 0.3 41.4 16.6

D=H4 cotcu +H3 cotcutH2 cotg,p+0.03*cotcy+ Ln/3 *cotgy,
=3388m 381m OK.

5.4

[17]

Newmark(1965!%)

(1)
5.17 (2)

5.3
3)

5.4.1
5.4.2
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5.4.1.

475
475 0.23g
(EL+26 ) (EL.)-5
Kh
0.013g
a=0.013g
Kh 0.027g
a=0.027g
1.
Kh 0.013g
5.19
114.98 t 114.9 t
(&) 0.013¢g
A (Pam)

Pam = Lp* (((2* L+l pi2)/( LpatLlpi2))* Hi/3+ Hot Hg)+
Lps* (2/5*Hi+ Hat Hs) +

Lro* (((2* LeportLpoo/( LpoatLlppo))* Ho/ 3+ Hg)+
Lps* (2/5*Hot+ Hj) +

Pas* ((2* Pag1+Pas2)/ (Pag1+Pas))* Hal3
757.071 t-m
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EL.+2.6

L,5=0.03t
EL.+1.1

EL.+1.07

L=42.14t

Lps=0.56t +——

9.977

EL.-5 501

H3=10
Pa3=35.82t

EL.-15 A 4.95

519 k,=0.013
A Rwm

Rwm = 0.5%r,*h* h* (h/3+ h,)+0.5*r,* h* hy* hy = 129.17 t-m

A Dwm
Dwm = 7/12%kp* 1, *hy,2* (2/5* hy)
= 7/12*0.013* 1* 15* 15* (2/5* 15)
=10.24t-m

_ Pam+Rwm+Dwm

Ap= =5568
16.1

Ap* =55.68*2.065

=114.98t 1.3*44.2*2( 2 F130T )=114.9t

5-28
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K 0.027g

5.20 1151t
1149t

(&) 0.027g
A (Pam)
Pam = Lpy* (((2* Lpput+Lp12)/( LpuntLpiz))* Hi/3+ Hot+ Ha)+
Lps* (2/5*H 1+ Hot Hg) +
Lpo* (((2* Lp2rtLpoy/( LpoatLpoz))* Ho/3+ Ha)+
Lpg* (2/5% Ho+ Hg) +
Pas* ((2* Pag1+Paz2)/(Paz1+Paz2) ) * Ha/3

746.958 t-m

A Rwm
Rwm = 0.5*r,*h* h* (h/3+ h,)+0.5*r,* h* h,* h, =129.17 t-m
A Dwm
Dwm = 7/12*kp* 1, *h,>* (2/5* h,)
= 7/12*0.027* 1* 15* 15* (2/5* 15)
=21.26t-m

Ap: Pam+ Rwm+ Dwm
16.1

=55.74 t

Ap* =55.74*2.065

=115.1t 1.3*44.2*2( 2 F130T )=114.9t N.G
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EL.+2.6

EL.+1.1
EL.+1.07

Lp=1.16t «—

L p1:3.75t

»
»

Ap

Lp=42.14t

9.977

EL.-5
EL.-15 — A
520 k,=0.027
5472
20 26 )
475
(a)
522 523

2.36

H3=10
Pa3=38.1* (1-0.17)=31.63t
5.26
( 9%5 12 26
0.23g
521
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210

83

a (gal)

250

200

150

100

50

-50

-100

-150

-200

-250

475

AN

FLILAAANAA A AA AL AAANA M
NVIVITTTVY Y WV VY WY W

20

30

40

50

70 I%g)

90

100

110 120 130 140 150

5.

21

475

d (cm)

2.50E+02

2.00E+02

1.50E+02

1.00E+02

5.00E+01

0.00E+00

13gal

10

20

30

40

50

60 70

®

90

100 110 120 130 140 150

5.22
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9.00E+01

27gal

8.00E+01

7.00E+01

6.00E+01

5.00E+01

d (cm)

4.00E+01

3.00E+01

2.00E+01

1.00E+01

0.00E+00

50 60 70 90 100 110 120 130 140

80
t(s)

150

5.23

9.5

25

210
50

Kn 0.12g(
0.159

83
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0.23g
475
475

475
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6.1

80

6.1

EL-15.40m

AiER
D=0 = 1nm L=3Emd: dom

| EL0am

5

FEBRAEE

300
Fi

EL+25m ':,fsz
e e R
- T TIELE FXITG | Sm

SEPPUZHTYII =140
1
EL-1230
EL714in S50, PURETD =220
]

6.1




(1)
55,000GT
EL.-14.0M
EL.+2.6M

27TM

2)
H.H.W.L. EL+2.6M

HW.L. EL-+12M
M.W.L. E.L+0.6M
LWL. ELA03M
LLWL. E.L+0.0M

(3)
3 (t/m?)
1 (t/m?)
4)
Kh=0. 1
Kh=0.2
)
7.85t/m’

2.45 t/m?

(6)



fc’ =210 kg/cm®
fc’ =175 kg/em®

ACI
1/3

fa = 1,400 kg/cm® (fy=2,810 kg/cm?)
fa= 1,600 kg/cm®  (fy=4,200 kg/cm®)
1/3
(SS41 STK41 )
oa= 1,400 kg/cm®
0<1/r<110 0 ¢ = 1,300-0.06(1/r)* kg/cm®
1//>110 0 = 7,200,000/(1/r)* kg/cm®
O va = 1,300 kg/cm®
o a =800 kg/cm’
Es =2.1x10"t/m*=2.1x10° kg/cm’

12

SY40
A=242 cm’
7=3200 cm’

1=72320 cm*



oa=2400 kg/cm’

SY30
A=188 cm’
7=2500 cm’
1=5650 cm”
oa=1,800 kg/cm’
1/2
F200T 100



6.2

6.2.1

FS=

T _tH cos’ Btan(dp— 6) _ tan(¢—6)

T rHsinBcosf3 tan 3

6-5
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40° 31° )
319 @nB=1=025 O=tan"(——K)=11.3" 6-1
4 r—1
1.43
6.2.2
1.
6-2 B
1/p 6.2
SPTN 10
E
ettt ettt eeas 2
B=1451 (6-2)
Es = (kg/m®) = Ky xD
Ky = (kg/m’)
Ky =0.15N (N SPT N )
= =80 cm
t= =12cm

o =tan” % =14.04° =

2 702
2



6.2

50 =0.02 mm/year

50 =0.02x50=1 mm

Doy = 80-2x0.1 =79.8 cm

Dj, = 80-2x1.2 =77.6 cm

I= 6—TZ(DM“ ~D. *)=210500 cm’

K, =0.15N=0.15x10=15 (N )
1
B=4%D 000287 — —349 em
4E1 B
1/p=349
3/B=1,046 6.3



6-1 6.3

EL-32.4 6-1
|2-0| 5.596 | 5.596 | 5.596 5.596 |2-0
| | | |

EL+2.6
1:3.5
L=35m ‘ l
- -
/ -
EL-14 —
®
@ ® 5
° @
EL-32.4

6.3

6-8



-13.78 -17.26 -24.24 19.86
-13.53 -17.02 -23.99 19.62
-12.84 -16.33 -23.30 18.93
-12.69 -16.18 -23.15 19.53
-11.65 -15.14 -22.11 18.45
-11.47 -14.95 -21.92 17.55
-10.78 -14.26 -21.24 16.86
-10.53 -14.02 -20.99 16.62

(Y )32 (X )30
6.4
(1) (Wo)
1t/m?
W1 =32x30x1=960t
(2) (Wp)
2.3t/m’

Wp=32%30%2.3=2208t




3) (We)
900
4) (Wp)

A= g(Dwﬁ -D.%)=271.8 cm’=0.0272m>
=19.86+19.62+18.93+19.53+18.45+17.55+16.86+16.62
=147.4m

W,=(0.0272x147.4x7.85)x8(  )=252t

(@)
—+— | O O O O O O O
O O O O O O O
O O O O O o O
S O © ©) @ 06 ® @
I O O O O O O O
S
= O O O O O o O
O O O O O O O
Y
O O O O O O O
L. X
-~ | O O O O O o O
| | | \
18020 | 4@5.6=22.4 M 20 his

6.4

6-10




Y ) (X

X
(ky)0.1 (ky)0.1

H=(W+ W+ Wt Wpx0.5)x0.1=419t

(6-3) (6-4)

C,=———————— e (6-4)

T cos’@,+——2—cos’ 0,
ilil 2712

li = (m)

A=

E=

0, 6,=

8

6-11



Vis

Hys Vs 6-5 6.5

_ V;sin6, + H; cos 0,

~ sin(6,+96,)

VSN0, — H, cosB, [
sin(0, +6, )

P, =

6.5

P = 52.4.><cosl6 — 954 t( )
sin32°
—52.4x%cosl6’
P, = ] .
sin32

=-954 t( )

6-12



Pl, __ 954x15.9 —=2.66x10"m = 0.266 cm
AE  0.0272x2.1x10
Pl —954x14.
sls __ =95.4x14.25 = 238x10”m =-0238 cm
AE  0.0272x2.1x10
A=0.92cm ( )
6.
(6-6) (6-7)
3
2 BB e (6-6)
(1+Bh)
M. = B e e (6-7)
26h
h=
A=0.92cm
(1)

1

1

12x2100000% 210500% (0.00287)°
(1+0.00287 x1638)°

x0.92=0.62 t

1+0.00287x1638
2x0.00287x1638

x0.62x1638=6163t—cm=6.16 t—m

6-13



)

3)

4)

)

(6)

2

2

3

3 2%0.00287 x 1544

Hg

7

7

8

y. = 1+0.00287x1613

_ 12x2100000% 210500 (0.00287)*

(1+0.00287x1613)°

© 2%0.00287x1613

12x2100000%210500% (0.00287)°
(1+0.00287 x1544)°

1+0.00287x1544

_ 12x2100000% 210500 (0.00287)°

X

(1+0.00287x1407)°

_ 1+0.00287x1407
5 2%0.00287x1407

- 12x2100000x210500% (0.00287)°

(1+0.00287x1338)°

_ 1+0.00287x1338
2x0.00287x1338

H = 12x2100000x 210500% (0.00287)*

(1+0.00287 x1313)?

6-14

x0.92=0.64t

x0.64x1613=631.8t—cm =6.32

0.92=0.72 t

x0.72x1544 =678.6t—cm = 6.79

x0.92=009 t

x0.92=1.01t

x0.92=1.06 t

t—m

t—m

x0.9x1407=7893t—cm=7.89 t—-m

x1.01x1338=855.1t—ecm=8.55 t—-m



_ 1+0.00287x1313
2x0.00287x1313

x1.06x1313=880.6t—cm=8.81 t—m

8

(6-8)
()
L (6-8)
A 7 o,
P=
A=
7=
M=
O ca™
O ba
(1
M, =6.16t —m = 616000 kg —cm
900
P=(1+23+ )x4x2.840.0272x35%x7.85=54.931
32x30

¢/ =1638 cm

6-15



r= \/I =27.82cm
A

L 25888 (110
r

0 o = 1,300-0.06(1/r)* =1092 kg/cm®
O =0 x1.5=1638 kg/cm®

I

Z ZEZ 5276 cm®
2

5 - 54930 , 616000 1092
Y5 5276 1300

)
M, =6.32t—m = 632000kg — cm

P,=(1+23+ 900
32x%30

)x4x3.8+0.0272%x35x7.85="71.881

¢ =1613 cm

r= \/I =27.82cm
A

L 25799 (110
r

0« = 1,300-0.06(1/r)* =1098 kg/cm®

O =0 x1.5=1647 kg/cm®

6-16

=300kg/cm’® <1638kg/cm” ........



7Z=—=>5276 cm’®

_ 71880 N 632000 y 1098
272 5276 1300

) =303kg/cm’ <1647kg/cm®

3)
M; =6.79t —m = 679000kg — cm

900
2x30

P, :(l+2.3+3 )x4x5.64+0.0272x35%x7.85=102.39t

¢ =1544 cm

r= \/I =27.82cm
A

£=55.51 (110
r

0« = 1,300-0.06(1/r)* =1115 kg/cm®
0 =0 x1.5=1672 kg/cm®

I

7Z=—=5276cm’
B cm
2

102390 N 679000 « 1115
272 5276 1300

3

4)

P, = 95.4t = 95400kg

P =0.0272x39x7.85xcos(16”) = 8t = 8000kg

6-17

=487kg/cm” <1672kg/cm” .......... OK



95400+ 8000

o, 772 =380kg/cm” <1300kg/cm’ ....ceevvvvreeennnnnn.
(5)
P, =-95.4t =-95400 kg
P =0.0272x39x7.85xcos(16’) = 8t = 8000kg
o, = _954(;(;; 8000 _ —321kg/cm’
321kg/em®  1400KG/CIM ..o,
(6)

M, =7.89t—m = 789000 kg — cm

P, = 1423+ 0
3230

)x4x5.64+0.0272x35x7.85=102.39t

¢ =1406 cm

r= \/I =27.82cm
A

£ 250,56 (110
.

0« = 1,300-0.06(1/r)* =1147 kg/cm®

0 =0 x1.5=1720 kg/cm’

Z= L_ 5276 cm®

D
2

6-18



102390 N 789000 y 1147
272 5276 1300

6
(7)
M, =8.55t—m =855000kg —cm

900
2x%30

P7=(1+2.3+3 )x4x3.8+0.0272x35x7.85="71.881

¢ =13.38cm

r= \/I =27.82cm
A

£=48.09 (110
r

0« = 1,300-0.06(1/r)* =1161 kg/cm®

O =0 x1.5=1742 kg/cm®

_ 71880 N 855000 y 1161
272 5276 1300

= 409kg/cm’ <1741kg/cm’

;
(8)
M, =8.81t—m =881000kg — cm

P,=(1+23+ 200
32x30

)x4%x2.840.0272x35x7.85=54.931

¢=13.13cm

6-19

=508kg/cm’® <1720kg/cm” ......



r= \/I =27.82cm
A

L w72 (110
Tr

0« = 1,300-0.06(1/r)* =1166 kg/cm®
O =0 x1.5=1749 kg/cm®

I

Z :§: 5276 cm®
2

54930 881000 1166
= + X

. =352kg/cm® <1749kg/cm”..........
272 5276 1300

Meyerhof*” 1976

N 6-9 6-10 6-11
(Qu) 2
2.5
N
( ) QuEA0XNXA, + XA s
N
( ) QuE30XNXA, + XA

N
Q. :12><N><Ap + 105 XA, i,

S

6-20



A=
6-10
N N, 20 19.9
(1)
P,=54.93t
A= ngoutZZO.sz
0, =—13.78—(-32.4) = 18.62 As=nxD_, x/, =46.66
19.9
Q, =30x20x0.5 +Tx46.66=485.64t
e OK
P 54.93
(2)
P,=71.88t
A= gxnoufzo.sz
0, =-13.53—(-32.4)=18.87 As=nxD, x(,=47.28
Q, =30%x20x0.5 +%x47.28:488.1t
T OK

6-21



3)

P5=102.39t

A= %x D, *=0.5m’

0, =-12.84—(-32.4)=19.56 As=nxD,, x(, =49

Qu=30x20x05+1%2x49=49497t

O OK
P 10239
(4)
P,=95.4+8=103.4 t
A= gxnouf=o.5m2
0, =39- (28120534 As=nxD,_ x(, =57.87
cosl6
19.9
Q, =30x20x0.5 +Tx57.87 =530.26
Q33020 g s e OK
P 1034
(5)

P=-95.4+8=-87.4t( )

A= ZxD,>=0.5m’
4

6-22



2.6+11.65

/. =39—
’ ( cosl16’

)=24.74 As=nxD,,x/l, =62

N XA, 199x62
5

=246.79 t

(6)

Ps=102.39t

A= gxnoufzo.sz

0, =—11.47—(=32.4)=20.93 As=nxD,_ x(, =52.45

Q, =30%x20x0.5 +%X52.45 =508.7 t

(7)

P,=71.88t

= =xD,,>=0.5m’
4

0, =—10.78—(-32.4) = 21.62 As=nxD,, x(, =54.18

6-23



19.9

Q, =30%x20x0.5 +Tx54.18=515.57 t

(8)

Ps=54.93t

A= gxnoufzo.slnz

0, =-10.53—(-32.4) = 21.87

19.9

Q, =30%x20x0.5 +T'><54.8 =

0.1

6.2.3

As=nxD_, xl, =54.8

518.03t

6.6

Coulomb™!!

6-24



Q=2t/m* Q’=1t/m’

EL2.6 —

=30 r=1.8t/m> =0
EL0.3 EL1 AVA
Aww
é
o=0" r=I1t/m’ c=1

EL-5 —

EL.6.9 0=30" r=ltm’ =0
1:4 EL7
EL-14
W o=31° r=l1t/m’ c¢=0
P
0=31° r’=1t/m \_c=0
EL-12.5 ——
/
. EL-194
6.6
L 83 12 et
a
Ap = Pam+Rv&ém+Dwm —935¢

6-25




APXT.6=37.6 1 <T00t cevuieveeeeeeeeeeeeeeeeeeeeeseeeee e OK

M=54.89t-m<0.6x2400%1.5x3200/100000=69.12t-m .................. OK

M, .= 0.322I =24.25t-m<0.6x1800x1.5x2500/100000 =40.5t—m OK

m

L =%=10.06m<13.5m ................................................................ OK

D=2xcot(45.3°)+6xcot(32.8%)+10.06/3*cot(31.8")=16.71m<23m OK

Kh:O. 1

Kh:O- 1

6-26



6.3

31 GIS
M=6.5 PGA=0.1g
( 2.6~0.9 )
6.7
B Lax (B )91 ST T4 2 SRR M A ST 2005 (=]
KH_T00! H
PRE( A= 1788200
10 Y= 2495490.0 =
£=30
(T (IR B (D)
0.97 5M
0 -
- CL
3.6 SM
a0 L
4,96 SM
20 19.4
*HEREERG . 5 M. 1g
‘ | ]
6.7
6.3.1
1.7
6.3.2
1.
1.7 6.6
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6.3

1.7

6.8

EL-32.4

6-2

1.7

6-2

1 -15.48 -18.96 -25.94 21.56
2 -15.23 -18.72 -25.69 21.32
3 -14.54 -18.03 -25.00 20.63
4 -14.39 -17.88 -24.85 21.30
5 -13.35 -16.84 -23.81 20.22
6 -13.17 -16.65 -23.62 19.25
7 -12.48 -15.96 -22.94 18.56
8 -12.23 -15.72 -22.69 18.32

6-28



T
= 2
4(

(Wp) (Wp) (We) 6.2
(Wp)

2_p,*)=271.8 em’=0.0272m’

out

=21.56+21.32+20.63+21.30+20.22+19.25+18.56+18.32

=161.2m

W,=(0.0272x161.2x7.85)x8( )=275t

H:(WL+WD+Wc+WPXO. S)XO 1=421t

H,; :lXH:£:52.6t
8 8
V45:O H45:52.6 6-5

52.6.><cosl6 =95.68t( )
sin32°

—52.§><cosl6 =—95.68t( )
sin32°

P,1, _ 95.68x17.67

=2.96%10"m =0.296cm

AE  0.0272x2.1x10’

6-29



P, —95.68x16.59
AE  0.0272x2.1x10’

=-2.78x107m = —0.278cm

A =1.04cm ( )

(6-6) (6-7)

(1

H = 12x2100000%x 210500 (0.00287)*

1 . x1.04 = 0.55 t
(1+0.00287 x1808)

M _ 1+0.00287x1808
" 2%0.00287x1808

x0.55x1808 =595.8t—-cm=596 t-m

2)

_ 12%2100000% 210500 (0.00287)°

H, .
(1+0.00287x1783)

x1.04=0.57 t

_ 1+0.00287x1783
2x0.00287x1783

x0.57x1783=609.6t—cm=6.1 t—m

2

3)

_ 12%2100000% 210500 (0.00287)°

H, .
(1+0.00287x1714)

x1.04=0.63 t

_ 1+0.00287x1714
2%0.00287x1714

3

x0.63x1714=651t—cm=6.51 t—-m

6-30



4

_ 12x2100000% 210500 x (0.00287)°
(1+0.00287x1577)°

x1.04=0.78 t

6

_ 1+0.00287x1577
*  2x0.00287x1577

x0.78x1577=747.5t—cm=748 t—-m

(5)
3
H, < 12X2100000x210500x (000287 0 e
(1+0.00287x1508)
- 1+0.00287x1508 ) o7 1508 =804t —cm=8.04 t—m
2%0.00287 x 1508
(6)
3
H, 2 12X 2100000x 21000 X 008D | 06y
(14 0.00287 x 1483)
- 1+0.00287>1483 ) o 1483 -8258t—cm=826 t-m
2%0.00287 x 1483
(6-8)
(0 ca)
(1)
M, =5.96t —m=596000kg —cm
(Sp) (Sm)

(H)

6-31



=( (Lp1) (Lp2))x

xsinf3

Lpl 1’ *H*L,

Lpl 1x1.7x2=3.4 t/m

(Lp2)

Lp2=ky, *(r +r,)*H* L,

Lp2=0.2x(1+1)x1.7x2=1.36t/m

H=(3.4+1.36)x0.798xsin14°=0.92t
(Sm)

SMZ%XPD«mM4OXh=2O4t—m

6-32



1

900
2x30

P, :(1+2.3+3 )x4x2.8+0.0272x35x7.85=54.93t

(Sp)
Sp=0.92xsin14"=0.22t

? =1808 cm

r= \/I =27.82cm
A

£=64.99 (110
r

0 o = 1,300-0.06(1/r)* =1047 kg/cm®
O =0 x1.5=1570 kg/cm®

I

7Z=—=5276cm’
B cm
2

_54930+220 N 596000 + 204000 y 1047

)

=325kg/cm’ < 1570kg / cm’
272 5276 1300

M, =6.1t —m=610000kg —cm

(Sp) (Sm)
(H)

6-33



2

H=(Lpl Lp2)x xsinf3

_ 71880+ 625 N 610000 + 491000 « 1053

=(1x1.7%5.596+0.2x(1+1)x1.7x5.596  x0.798xsin14"=2.58t

(Sm)
1 0
SM:EXHXCOSVI- xh=491t-m

900
2%x30

P2=(1+2.3+3 )x4x3.84+0.0272x35%7.85="71.88

(Sp)
Sp=2.58%sin14"=0.625t

¢ =1783 cm

r= \/I =27.82cm
A

L_641(110
Tr

0« = 1,300-0.06(1/r)* =1053 kg/cm®
O =0 x1.5=1580 kg/cm’

I

Z :§: 5276 cm®
2

3)

272 5276 1300

= 436kg/cm’ <1580kg/cm’ ....... OK

6-34



M, =6.51t—m=651000kg —cm

(Sp) (Sm)
(H)
H=(Lpl Lp2)x xsinf3
=2.58t

(Sm)
SM:%XHXCOSI4O xh=691t—-m

900
2x30

P, :(1+2.3+3 )x4x5.6+0.0272x35%x7.85=102.39t

(Sp)
Sp=2.58xsin14"=0.625t

¢ =1714 cm

r= \/I =27.82cm
A

£=61.63 (110
r

0« = 1,300-0.06(1/r)* =1072 kg/cm®
0 =0 x1.5=1608 kg/cm’

I

Z =§= 5276 cm®
2
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102390+ 625 6510004691000 1072
O, = —+ X

=589 kg/cm’ <1608kg/cm’ ..... OK

’ 272 5276 1300
(4)
P, =95.68t =95680kg
P =0.0272x39x7.85xcos(16") = 8t = 8000kg
(Sp)
Sp=2.58%c0s60°=1.29t
g, = 22080+8000+1290 _ 5010 em? <1300kg/cm®.............. OK
272
(5)
P, =-95.68t = -95680kg
P =0.0272x39x7.85xcos(16") = 8t = 8000kg
Sp=-2.58x%c0s88"=-0.09t
o, = —95680+8000—-90 — _323kg/cm’
272
323kg/em®  1400KG/CIM ..., OK
(6)

M, =7.48t — m=748000kg — cm

(Sp) (Sm)
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6

(H)
H=(Lpl Lp2)x xsinf3

=2.58t

(Sm)
SM=%><H><cosl40 xh=10.44t-m

900
2x%30

P = (14234 = )x4X5.6+0.0272x35x7.85 =102.39 ¢

(Sp)
Sp=2.58xsin14"=0.625t

¢ =1577 cm

r= \/I =27.82cm
A

L —s56.67 (110
r

0 e = 1,300-0.06(1/r)* =1107 kg/cm’
0 =0 x1.5=1661 kg/cm®

I

Z=—=5276 cm’
D cm
2

102390+ 625 748000 + 1044000 y 1107

n = 668kg/cm’ ( 1661kg /cm’
272 5276 1300

6-37
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(7)
M, =8.04t —m=_804000kg —cm
(Sp) (Sm)
(H)
H=(Lpl Lp2)x xsinf3

=0.92t

(Sm)
SN[:%XHXCOSM0 xh=365t—-m

900
2x%30

P = (14234 )x4x3.8+0.0272x35%7.85=71.88 t

(Sp)
Sp=0.92xsin14"=0.22t

¢ =15.08 cm

r= \/I =27.82cm
A

L o542 (110
T

0« = 1,300-0.06(1/r)* =1124 kg/cm’

O =0 x1.5=1686 kg/cm®

6-38



7

I

7Z=—=5276cm’
B cm
2

_ 71880+ 220 N 804000+ 365000 y 1124

272 5376 300" 457kg/cm? <1686kg/cm’
(8)
M, =8.26t — m=826000kg —cm
(Sp) (Swm)
(H)
H=(Lpl Lp2)x xsinf
=0.83t

(Sm)
SM=%><H><cosl4° xh=3.36t—m

900
2x30

P, =(1+2.3+3 )x4x2.84+0.0272x35%7.85=54.93t

(Sp)

Sp=0.83xsin14"=0.2t

?=14.83 cm

r= \/I =27.82cm
A
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L o533 (110

T
0 e = 1,300-0.06(1/r)* =1129 kg/cm’

O =0 x1.5=1694 kg/cm®

| P—

7= =5276 cm®

N | I

o, = 54930+ 200 N 826000+ 336000 « 1129 —394kg/cm?’ < 1694kg /it .... OK
272 5276 1300

(1)
P=54.93t
A= %xsz:O.sz
¢, =—-15.48—(-32.4)=16.92 As=nxD, x/, =42.4
Q, =30%x20x0.5 +%x42.4 =468.69 t
Q, = 468.69 =8 53 > e OK
P 54.93
(2)
P,=71.88t

A= gxnoufzo.slnz
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0, =-1523—-(=32.4)=17.17 As=nxD,_, x/, =43.02

Q, =30%x20x0.5 +%X43.02 =471.1t

3)

P5=102.39t

A= ngmz:O.SmZ

0, =-14.54—(-32.4)=17.86 As=rxD,, x(, =44.7

Q, =30%x20x0.5 +%x44.7 =478t

4)

P,=95.68+8=103.68t
A= gxnoufzo.sz

2.6+14.39

¢, =39—
! ( cosl16’

)=21.33 As=nxD,, x(, = 53.44
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Q, =30%x20x0.5 +%x53.44 =512.63t

)

Ps=-95.68+8=-87.68t( )

= —xD,,>=0.5m’
4

2.6 +13.35

/. =39-
: ( cos16’

) =23.05 As=nxD, x(,=57.75

N XA, 19.9%57.75
5

=229.84t

(6)

Ps=102.39t

A= ngmz:O.SmZ

0, =—13.17—(-32.4)=19.23 As=nxD,_, x/, =48.19

Q, =30x20x0.5 +%X48.19 =4919t

6-42



(7)

P=71.88t

A= ngmz:O.SmZ

0, =—-12.48—(-32.4)=19.92 As=nxD,, x/, =49.92

Q, =30x20x0.5 +%X49.92 =498.62 t

(8)

Ps=54.93t

A= gxnoufzo.sz

0, =-12.23—(-32.4) = 20.17 As=nxD,, x/, =50.5

Q, =30%x20x0.5 +%X50.5 =501.07 t

Q, 501.07 _

= = 0L 3 2 s OK
P 54.93

Kh:O. 1
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K;=0.1 6

5
6.3.3
6.6
( +2.6~+0.9 )
1.
L I Y OK
Ma
2.
Ap= Pam+Rv&ém+Dwm — 2681
APXI.6=42.9 £ <100t oo e OK
M=54.07t-m<0.6x2400x1.5%x3200/100000=69.12t-m .................. OK
3.
M_ = 0.322% =30.6t—m < 0.6x1800x1.5x2500/100000 = 40.5t —-m OK
Lm=%=11.14m<13.5m ................................................................ OK
4,
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6.4

D=2xcot(45.3°)+6xcot(32.8%)+11.14/3*cot(31.8°)=17.28m<23m OK

Kh:O. 1

Kh:O. 1

Kh:O. 1
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7.1

SAP2000 ETABS
PLAXIS  FLAC

1. SAP2000 ETABS

SAP2000  ETABS CS1(Computers & Structures , Inc)
RC
ETABS
RC
ETABS
ETABS
SAP2000
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SAP

ETABS
SAP2000 SAP2000
model
2. PLAXIS
PLAXIS 1987
Delft 1993
PLAXIS BV Delft Stuguart
8.0 Lagrangian
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3. FLAC

FLAC Fast Lagrangian Analysis of Continua
Itasca Consulting Group Inc.

SAP2000  ETABS
PLAXIS  FLAC

SAP2000
PLAXIS  FLAC

7.2

[22]
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(1)
7.1

7.2 12
4.8 1.2
4 3
. 4.8m ¥
™ ol
1.0m 3.0m 0.8m
O e
+2.4m
777 777777777777
+0.0m
i 35
2
-4.0m |-3.5mp SR
RTT A7 Z
7.1
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[1-2my

0.5 t/m?

0.8m

4.8m

7-5

1.0 t/m?

Kh=01 K,=0

7.2

(2)



N :4.0

:C=5+0.125Z t/m*(Z: -3.5m )

7.85 t/m?
2.45 t/m®

1.03 t/m®

c'2=1,400 kg/cm2

G%a=L3004106[£J ot <110
Y Y

=7,zoo,000/(fj - L.110
Y Y

s’» =1,300 kg/cm?
®3)
(STK41)
D=558.8mm
t=16mm

W=0.214 t/m

0.1mm/ ( )
30
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t;= 0.1x30 = 3.0 mm
D =558.8-3.0 x 2=552.8mm
t=16-3=13 mm

; D?=552.8-13 x 2=526.8 mm

: AZ%(DZ ~ D' ?)=220.5 cm?

e %l(gj (D?” ~80,344 cm*

R 3
1= E = 2,907 cm
2
|
: = |J— =19.1
- [k ot
U= noD=173.7cm
(1)
-4
(2)
N 4

kn=0.15N = 0.6 kg/cm®
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B = ‘{/k“Dﬂ/ 0.6x95.28 — 0.2648x102 cm™

4EI 4x2.1x10°x8.034x10*
1/p =378
-4-3.78=-7.78 7.3
(4)
0.8
(0)=2.4-0.8+4+3.78=9.38
3)
3/p=11.34
-4-11.34=-15.34 7-3
-25
+2.4m
+1.6m [
A +0.0m
-4 0m
1 A8 [E] & 2k

21snl —1

Il

-25.0m

7.3
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(4)

1.5t/m?
W, = (25+1.6)x0.02205x7.85 = 4.6 t/
W, = (1.6+7.78)x0.02205%x7.85 = 1.62 t/
1 t/m? 0.5 t/m?

7.4
4.5m ..|,1‘Eml
- il 1
- 2.5m, 2.9m ,0.9m
< ol >
2.5m | 2.3m,
il |
1L 4 | | 11
. I | | |
S| | 2 19 N
= AL AR
1 HETHE
SERE 2K 11
B o 1o |l
N | (I
Ik 2 I R Iy
“ T
S| | o1 ol
= ! 1
L A I I | r
RAR B4R
7.4
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Wi = 2.5x4x(1.5+0.5)+4.6 = 24.6 t/

W,=2.3x4x1.5+2.9x4x0.5+0.9x4x0.735+4.6

=26.85t/

()
1/2
H = (4x4.8x1.5+4x5.4x0.5+4%0.9x0.735+1.62x2x1/2)x0.1
=439t
(6)
7.5
Hi= 23 =204
2

M = %x9.38x2.2 =10.32 t-m

p= 222 =688t
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3
439t
9.38
/Tﬂ/ _7]77_
p p
7.5
(7)
A=t 2.2 - =0.009m=0.9cm
K 12x2.1x10° x8.03x10
9.38°
(8)
da.
(=4+1.6=5.6 m
L2 30 -993<110
Y 19.1

2
0’ = 1,300-0.06(£J = 1,300-0.06%(29.3)’= 1,248 kg/cm’
Y
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Gbsa = 1,300 kg

M =10.32 t-m

P=26.85+6.88=33.73t

P N M c% 33730 N 1,032,000 1,248

LA x 2= = 493.78 kg/em® < 1,248
A Z o’s 2205 2,907 1300

kg/cm?® O.K.
9)
R, =8C,A, + C.A,
Cp( )= 5 + 0.125%(25-3.5) = 7.69 t/m” ;
Ap( )= 3.14x0.5528 - 024 m?
C, ( )=3.5 t/m?
As( ) = (25-4)x3.14%0.5528=36.5 m”

Ry = 8x7.69%0.24 + 3.5x36.5 = 142.5t

_R, _1425
P 3373

1)

7.6

X(Hsx)  y(Hsy)
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(Vs)

(Vp)
Hs = Hsx = Hsy = 0.15ND
= 0.15x4x0.001x100°x0.5528 = 331.68 t/m

Vs = C, nD =3.5x3.14x0.5528 = 6.07 t/m

Vp=8C,A,=14.76 t

' BEREN € 5 1
g e S, S . T
..:I-

L
.

(A 0,

1.5

RE® @
bt b § T £

P K 68,

14337 %

7.6
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(2)

k,=0.1

1. 77

0.96

7-1

0.9

0.9

(cm)

(t)

(t-m)

33.73

10.32

0.96

29.06

9.52

E b
r E

JIICCCTT
W =N

7.7
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( ) 7-2
7-2
-7.78m -15.33m
-Om -14.8m
7-2
(
)
7.3
7.8
7.9
X(Hsx)  y(Hsy) z z
(Vs) (Vp)

(N 10 D 0.798m)

Hs = Hsx = Hsy = 0.15ND
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= 0.15x10x0.001x100°x0.798 = 1197 t/m
(N 10 D 0.798m)

Hsx = 0.15ND = 1197 t/m
Hsy = 0.15ND/cos16° = 1245 t/m
(N 20 D 0.798m)

Vs =0.2N=D = 0.2x20x3.14x0.798 = 10 t/m
(N 20 D 0.798m)
Vs =0.2N =D = 0.2x20x3.14x0.798 = 10 t/m
(N 20 D 0.798m)

Vp=30N=D%4 =300t

khZO.l
7.10 7.10
(u2) 1.08 (0.92
7-3
(
( ) 7-4
7-3
@ ) (8

0.92 cm 8.81 t-m 1.061
1.08 cm 9.67 t-m 1.131
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E2= 1D048E-19 | —
i |R3= 1335E-17
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7.4

(kn=0.1)
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